THE OPEN UNIVERSITY OF SRI LANKA
Foundation Programme in Science/Continuing Education Programme 2008/2009
PSF 1303/PSE 1303 — CHEMISTRY —LEVEL [

TEST ASSIGNMENT I Answer Guide

0. 1 2. 2 3. 1 2 5,
6 2 2 8 1 9 2 10y All
1) 3 12) 2 13) 3 1) 4 15) 4
C16) @  v=ch =30x10%639x 107 =4.69x 10" 5"
() Eshv #66x 107 %469 10" =3,095% 1077
() Eformole=ExL=3.095 x 10 x 6,022 x 10 T mol™*
(i) {a) s=2 (by p=6 (c) d=10
(i) (2) z-19- 1s%2s%,2p%36%3p° 45! ) 736 - 155272, 36%3p" 4573 4p°
(iv)  Not marked " | |
I BCL o PH; o NH,"
. Noof slecttonis fromB - 3 No of elacrrons fromP - 5 No of electrons fiotm N - 5
-3 Cl electrons- from -3 3! electrons  from - 3 41 electrons from - 3
 »Total No of electrons - - 6/2 Total No of electrons ---8/2  Total No of electrons -8 /2
~ No of pairs -3 No of pairs - 4 No of pairs. - 4
Cl H

35 ,«-"- B | . : C
ol _l/ / N ” \\' . . B ‘/ ‘ ™
e ™~ -
s \x B H " Sy
c H "

i};;_;l. CpHy + 120, — e 10CO, + 4O ... (1) AH® =-5135kJ mol™

C o+ 05  —p COs i () A =-392.1 K mol’
: H, + 120 _yp HO @3) AH' =-225.5KI mol’
(2) 110+ (3)x4- (1)

10C  +4H, — Ciolls

X 4—(-5135)=-482.3 kI mol"
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AR®=-392.1x 10 -225.
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1. a
i) 6Ce + 3z —» CeHey e (1) =
Cilspy + 30wy —> 6COxy +3HOpy....coonety  AH =-3267.6 kI gl
C + Oy, —> COxg oo, () AH =-393.5 W mol
Hy + 120; _ 3 HOD oo, () AH = 2859 Kl
Dx6+(3)x3-1)
AH®=-393.5x6 -285.9 x 3 -(-3267.6) =+ 48.9 kI mol™
(ii) Enddﬂlemﬁd com;iound
. . g & _ -1 SIn
= - = iy - e 3 :
D 4 AHJ.‘H o ZAH_)‘NH.,NOS 4 x (-285.9 kImol™) -2 x (-364.6 LJmol™)
_=-414.4 kImol?
()  Good explosive must decompose rapidly and produced lmgc changas in volume:
releasmg gases. Ammonium nitrate does dccomposes rapidly it also gives a hug'
increase in volume. -
(c)
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| -3243.9/kT mol™
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339.3x 2 kJ mol™
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-166.7lk1 mol™
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CH(g) + O(s) f-i 79(1%8 kJ mol

-1 o -
-249.2 kJTmol Cley + O

2. (a)

24
Cu 11204y,

ZOOO.I?EJ mol™”
- 41431 kJ mol™

Cl-ﬁ(g] +1/2 Ol(g)
750.(1}:1 mol*

Cuc.g) + 202(3)

339.3.kJ mol

Cuyy +172 O 2z)
-155.2 kJ rinol'l
. X

M CH O['.S‘]

SOy  * 120, ~= SO,

Initial moles 2.0 1.0

Reacted moles -1 -9

At equilibrium moles 0.2 0.1 1.8

Mole fraction 0.2/2.1 0.1/2.1 1.8/2.1

Cencentration 0.2/60 % 10 0.1/50 ¥ 10% 1.8/ 50x 10%
0.2x2x10%21 01x2x10%2.1 1L8x2x10°/2.1

Partial pressure

A
K, =P 7p.. o= 18x2x10°/2.1 =9.22x 10° Pa?
0.2x 2x 107%/2.1x (0.1 x 2% 107%/2.1)"
K= [50). .1 = 1.8/60x 107 = 7.5 mof*” dm™"*
(SO, M0, 1"  02/60x10° 5[ 0.1/60x10%)"
_ a0
_Pg - PQJ’YQ

Xo=095x10°= 0.75 X = 0.24
123 % 10°
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